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Combined Graduate Level Examination-2019 (Tier-1)

[Roll Number

Candidate Name

Venue Name

Exam Date 06/03/2020

Exam Time 10:00 AM-11:00 AM
Subject CGLE Tier |

Section : General Intelligence and Reasoning

Q.1 RE =w 3ot F1 eAEE HeTwa w AR IH FEA A OTEA F, S v RE (7) B T I wa

23 |5 110

56 |9 121

49 |3 2

Ans  X'1.113
<2111
X 3 95
v 77

Question ID : 123568330
Status : Not Answered
Chosen Option : --

Q2 = mR-aag Ry e §, B @ &9 B 7 e o aee § R v e B 3w s
IET-TAE 1 T4 H

Ans of 1. GCV
X 2 DDP
X 3 FBL
X 4 BJT

Question ID : 123568317
Status : Not Answered
Chosen Option : --

Q.3 Four words have been given, out of which three are alike in some manner and one is different. Select the odd word.
Ans 1. Clarinet

« 2. Xylophone

/< 3. Trumpet

/< 4. Saxophone

Question ID : 123568318
Status : Not Answered
Chosen Option : --
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Q4 v & wE F ST Heer-aenT Tulaa BER 7 ¥ 3% Mew & aad w1 S+ R 9 weE F

aiE e 9T gem
# % #
e . e i
Ans JT @
X2 $
<3
p

Question ID : 123568335
Status : Answered
Chosen Option : 1

Q5 33 ReeT # Tow F, B & 7 gl R ¥ (g # sy 7 )

Ans

Question ID : 123568336
Status : Answered
Chosen Option : 3
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6 Rrmff@a ymer F geT REa (?) #T OE I S TEAT FoTAT FY
62, 66, 74, 90, ?
e X1 116
<2106
v 122
<4120

Question ID : 123568327
Status : Answered
Chosen Option : 3

Q.7 ‘Astronomy’ is related to ‘Stars’ in the same way as ‘Agronomy’ is related to * %
Ans 1. Emotions

# 2. Mines

#< 3. Planets

W 4 Crops

Question ID : 123568319
Status : Answered
Chosen Option : 4

Q@8  Arrange the following words in a logical and meaningful order.

1. Quadrillion
. Quintillion
3. Million
4. Octillion
5

[

. Trillion

Ans X1 3-5-1-4-2
< 2 4-3-5-1-2
V3 3-5-1-2-4
X4 2-351-4

Question ID : 123568316
Status : Answered
Chosen Option : 3
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W Rrafafa s@er & wea-REa (?) B S W A ¢ H 9T w5
B Eudy 700 U

Ans X1 K
v 2 M
X3 N
X4 0

Question ID : 123568315
Status : Answered
Chosen Option : 2

Q10 i oI Fr R T A W H sr e M F e S ¥ 14 0% & wg &

Ans X1 5
X2 11
Vs 7
X429

Question ID : 123568332
Status : Answered
Chosen Option : 1

gk s e g 2

Ans X116
X2 28
v 25
X422

Question ID : 123568334
Status : Answered
Chosen Option : 1
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Q.12 frer fafam e oo &, 'DKQX' & 'WPJC' foram =i §1 58 1 & 'AFKP' @ &3 Rrar seem?
Ans X1 ZUQJ

v 2 ZUPK

X 3 ZvaL

X 4 ZTOK

Question ID : 123568321
Status : Answered
Chosen Option : 2

Q13 Grafafa TR # dgfed a9 & Bv 5 o Real 1 3 F s S JEmEa 32
12+ 81-27x9+3= 36

e XK1 x 3k -
A2+ 3 x
}{3....311;;,(
VA -

Question ID : 123568331
Status : Answered
Chosen Option : 4

Q14 35 v gon, & 7 Al Fr o AT @ T A, & 3EE T aur ofy F TaE H

N

Ans

05

Question ID : 123568337
Status : Answered
Chosen Option : 4
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Q15 =7 fFeT &1 == wt, Td 77 g o | & afy sew & & % Reg W w A A &

Ans

et e S e e

Question ID : 123568338
Status : Answered
Chosen Option : 4

Q.16 RE 71w 37 3w &, 'HTS 37 TG F g2 &, Fr BES § AN w6 = &, IeF 3

Ans

v 30
X229
X3 27
<4 36

T Frgeer & S W § A T g6 Fd § OHR e 37 ot Fr o & S iE w a
FEAT GHS A &1 FNE H &7 9 "5Egr 37 A9y Auf & anfit fr g @ g §

W frae aed & S @ & 39 @ T Bew # e s sue w € ofte 3w A Rege w46

Question ID : 123568339
Status : Answered
Chosen Option : 1
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W A+BEHTE A B a I

Ans

A-Bwr T g B, AFraga e

A x B & 7T &, ‘A, B Fr 7T T

A+B@F HTE B, AT T LI

afe, P+ R*xT-Q=+S+Ug @ P& ST FT dae 27
<1 8T

v 2 F@Tar

X 3. grer

& 4 srEm/ATATANET

Question ID : 123568324
Status : Answered
Chosen Option :

4

Q.18 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even

if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

1. Some machines are kites.
2. No machine is a pigeon.
Conclusions:

I. Some machines are pigeons.
1. All kites are pigeons.

III. Some kites are not pigeons.

Ans 1. Only conclusion II follows.

/< 2. Only conclusions I and III follow.

/< 3. Only conclusions I and II follow.

+ 4 Only conclusion III follows.

Question ID : 123568325
Status : Not Answered
Chosen Option : --
Q1Y RrafafEa gEer # yea-fRea (?) $ g A= T TG 9T F
5, 10, 26, 7, 122, 170

Ans

X177
X 2 65
V'3 50
X4 82

Question ID : 123568326
Status : Not Answered
Chosen Option : --




www.makemyexam.in - Powered by IBT

Q20 CrmfafET gEer & wa-FEd (?) T T AT T ER-GEE F 9IS F
ADG, CGK, EJO, ?, IPW
Ans X 1. GMZ
< 2. GNS
< 3. GNZ
v 4 GMS

Question ID : 123568323
Status : Answered
Chosen Option : 4

Q.21 Rw 7w e #7 cO=ES HeATA H AR 3T TEA F AT FL, S TR Fe (7) FOAE 371w §

15 |3 24

21 |6 30

49 |5 ?

Ans X1, 98
v'2 88
X3 92
X4 82

Question ID : 123568329
Status : Not Answered
Chosen Option : --

Q.22 zq fymen 7 T X, B =l & oAOw & I g6y ¥, S g6 A R AT g ¥

et & A g
ErraAE

e X frser ;e
X dgh : g

/3. SrEeT -’ g
W & ATRHAT TS HEDITAT

Question ID : 123568320
Status : Answered
Chosen Option : 4
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Q23 =7 aypfy = w7 #t, = HEARET g@eT F ToT REa (7) $ SR 37 FFT L

ENNAH

-J

Ans

X
XTSI

Question ID : 123568333
Status : Not Answered
Chosen Option : --

Q24 Fwmat & 98 gom R o §, e @ 9 R T Ol e @ o € s oF smEe El e
AT HEA- A F T4 F

e XK1 121

v 215 : 250
<313 : 169
<417 : 289

Question ID : 123568328
Status : Answered
Chosen Option : 2
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Q.25 far ffRwT T o F, 'PAGE’ %1 '161495' for@m =i €1 30 79 F 'PART & % o smeen?
Ans X1 16136220

< 216125020

< 3. 16128620

v+ 16132420

Question ID : 123568322
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 The Supreme Court has declared access to the internet a fundamental right under Article
of the Indian Constitution.

Ans  of 119
K 217
X 3.21
K 414

Question ID : 123568358
Status : Answered
Chosen Option : 3

Q.2 R 1 & & ugst SR Fi &, [ dargfa Raw &t ufa avf " 1 darfags @
feere' & =u A w=TaT SATar 82

Ans  off 1 SrRer . o, FRao
X 2. 5Re gL, A
/X 3. e .. R
X 4. SR weRr Ttz Rigt

Question ID : 123568363
Status : Answered
Chosen Option : 1

Q.3 Which leader gave us the C R Formula?
Ans X" 1 Tilak

J 2. C. Rajagopalachari

x 3. Mahatma Gandhi

/5 4.C.R.Das

Question ID : 123568354
Status : Answered
Chosen Option : 4
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Q.4 If the inflation in an economy is rising steadily, the Central Bank might ___.

Ans x 1. keep the repo rate unchanged
J 2. increase the repo rate
x 3. decrease the reverse repo rate

x 4. decrease the repo rate

Question ID : 123568343
Status : Answered
Chosen Option: 3

Q.5 fF=faf@a | & o= a1 4 oo @t & g s | deifaa 8 gtar 82
Ans X1 geg

75 2. gterRa B

/< 3. Riftsfer

o 4 R

Question ID : 123568346
Status : Answered
Chosen Option : 4

Q.6 SararyE fawrie # fAfaf@d § @ o @ 79 Fmar Faffde amn F s & 82
Ans X1 geuR eEsiaaTse

o 2 s@ams

7% 3. e SrdsiiaTEe

X 4. g aemTEs

Question ID : 123568350
Status : Answered
Chosen Option : 1

Q.7 F=fofla d @ &= w6 & sifadfier sifAwgor & o aear 82
Ans  off 1 e

7 2. 7Tt Tk IR

75 3. Feiifther

X 4. 5 T PR

Question ID : 123568344
Status : Answered
Chosen Option : 3
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Q.8 3. Hl. "R A fhE avf W R sk YR e reaTastt wenfa fi A2
Ans  of 1196566

/X 2.1966-67

75 3.1964-65%

/X 4.1967-68 7

Question ID : 123568355
Status : Not Answered
Chosen Option : --

Q.9 ufer geft e= afger T20 siarfdia d=i & |aifdes @ s Ry i aamn g, ® 81
Ans J]_gﬁ—gﬁ,m

X 2. 9rd

75 3. e

/X 4.wmE

Question ID : 123568361
Status : Answered
Chosen Option : 1

Q.10 27 &R, 2019 ! faifesr Hoe # st ufafda Fi-rgue geiew srars 9aRIg & gvH fhe
HReATT =R ot Hifar & ke 6 gaffdes g afgar grear & gefae fErar wr ar?

Ans X1 g e
o 2w gh
X 3. g e
75 4. s e

Question ID : 123568356
Status : Not Answered
Chosen Option : --

Q.11 HATUEYR AT # smaifSia gar g1
Ans (1.@—@?!

X 2. werE

75 3. smmy

5 4 mmmRy

Question ID : 123568341
Status : Not Answered
Chosen Option : --
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Q.12 In the sequence of planets in the Solar system, which planet comes in between Mercury and
Earth?

Ans "1 Uranus
/X 2. Jupiter
75 3. Mars
o 4. Venus

Question ID : 123568351
Status : Answered
Chosen Option : 4

Q.13 The SDG India index is developed by _____.
Ans X 1. Ministry of Home Affairs

x 2. Ministry of Envionmental, Forests and Climate Change

o 3. NITI Aayog
x 4. World Bank

Question ID : 123568359
Status : Answered
Chosen Option : 2

Q.14 Merchant discount rate refers to .
Ans x 1. the total discount a bank offers to the merchant for promoting online transactions
x 2. only taxes that a digital payment entails

( 3. the rate charged to a merchant for payment processing services on debit and credit
card transactions

x 4. the total discount a merchant offers on online transactions

Question ID : 123568342
Status : Answered
Chosen Option : 1

Q.15 T Haq a Ry g ar?
Ans  of 1 $q 574

P S RARYE

/< 3.4g,55%

/< 449504

Question ID : 123568352
Status : Answered
Chosen Option : 1
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Q.16 Name the Indian wrestler who has been named the Junior Freestyle Wrestler of the year
(2019) by United World Wrestling (UWW).

Ans X" 1. Kamareddy
J 2. Deepak Punia
x 3. Amita Bagchi

/< 4.B.P.Raju

Question ID : 123568357
Status : Not Answered
Chosen Option : --

Q.17 F=fafaa & @ ag w19 a1 ugen afeyor gfrars 2ar @ e da-fhfaRin &t sroRTy gt 82
Ans X' 1 Aure

of 2. sfca

/X 3. ufem

X 4. 9Ra

Question ID : 123568360
Status : Answered
Chosen Option : 2

Q.18 W&t @« it WRA & uflig A1l oé G« a1 ves Wey g, A=faf@a 7 @ frg R asa @

Ans X1 reRYE
5 2. I
75 3. mEm
o 4 wERE

Question ID : 123568340
Status : Not Answered
Chosen Option : --

Q.19 59 78 R oik foFw woa # sraararT) aty safeda &2
Ans X1t Y - g

W 2. el 7 - wERrE

75 3. 5T 8 - TereE

75 4. AR T - et

Question ID : 123568349
Status : Answered
Chosen Option : 3
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Q.20 Name the only metal that is antibacterial.
Ans X" 1. Sodium

( 2. Copper

x 3. Aluminium

x 4. Iron

Question ID : 123568347
Status : Answered
Chosen Option : 2

Q.21 fhe STy HEUT 3 ‘ged gsit e (World Energy Outlook) 2019’ Ruié st &y &2
Ans X1 fasy TR TeH

75 2. 7@ (UNESCO)

o 3. sindia gt gl

X 4. ey

Question ID : 123568362
Status : Answered
Chosen Option : 3

Q.22 AT SR RO ham A ST ST °, Y et ot
Ans X1 stgsTel

/X 2. sivare

/X 3. @R

o 4 sErR

Question ID : 123568353
Status : Answered
Chosen Option : 4

Q.23 Which of the following is a natural flame retardant?
Ans X" 1 RNA

x 2. Flowers

o 3.0NA
75 4.Skin

Question ID : 123568348
Status : Answered
Chosen Option : 4
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Q.24 Which of the following is the primary sex organ in females?
Ans X" 1 Fallopian tube

J 2. Ovary
X 3. Vagina
x 4. Uterus

Question ID : 123568345
Status : Answered
Chosen Option : 1

Q.25 &fayor gfar & A Fwar gAffa wa & 3829 9 7.¢4. g8 (UN Women) 3 C i 4
UTeh & AT ATSERI &= ol UedTd A g1

Ans X]_gﬁw
o 2 &=
/X 3. e

X 4. e

Question ID : 123568364
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q.1 30 @=af & wroaiet @1 w88 &, 3k =9 ofY & wrcaiet # e R T, & st I e
87.5 g am IRy oY & g F 2 F 3eR E a8 Feaas weae £l

Ans X1 94
v'2 96
X3 92
X 4 90

Question ID : 123568367
Status : Not Answered
Chosen Option : --

Q2 ABdRCw T = s FAw 24 7, 0 R s s @ F wwr wa &1 B A ¢ =7
IS T £, 3T T 6 BT FH 77F 3% ©rF &9 §) OF FT = AT e ¥ BT A # 3re ae
fea wEr?

AR B
X212 R
X310 fee
X152 e

Question ID : 123568373
Status : Answered
Chosen Option : 1
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Q3 #FNIBOATNABICEATF @R AT AT § 5 A& fed & 2 71, B & Gw@ &7 5 70
AR C % g &1 7 T aua @, & A T fEw A S

Ans  of 1. 2700
X 2. 2650
X 3 750
X 4 3500

Question ID : 123568371
Status : Not Answered
Chosen Option : --

Q4 gz 1, A AT G HUR WA RO ST g, | 27,800 TN 8% I su F W
1 99 F TRgiE SOl H FOT HAT EET?

Ans X1 324.72
v 2 31248
X 3 319.46
X 4 329.18

Question ID : 123568372
Status : Answered
Chosen Option : 1

Q5 g T PA #HiT PB aedr g P & % O arer vF g5 W @ a1 #1 IR 2OAB = 30°, &
+APB ¥d &=

Ans (1_ 60°
X 2 120°
X 3 30°
X 4 15°

Question ID : 123568380
Status : Answered
Chosen Option : 1
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Q.6 G afewr &, Bffes woat #2015 F 2019 &F 3e0es (@ #) for v &1 afdemr =
eI FH{ AT U 7T 997 F 30w &

T | =mEe | g | e S | FEw

2015|415 | 2500 | 1000 (975 | 490

2016 | 520 |4218| 1120|825 | 520

2017 | 585 | 3482| 1250|700 610

2018 | 625 | 4500 | 1325|625 | 725

2019 | 600 | 3300 | 1450|775 | 840

T A B e H T F IS A WA@ AOH g AT H = Hr o)
Ans o 1. 2016

< 2 2018

X< 3 2017

< 4 2019

Question ID : 123568389
Status : Answered
Chosen Option : 1

Q.7 fr=fafam afeer & R wuat #2016 ¥ 2019 O%F so0es (= ®) far o &) afeer &
e w1 AT T 0 mA F Feaw &

T | TEe | g | e S | Fe

2015|415 | 2500 | 1000 | 975 | 490

2016 | 520 |4218| 1120 (825|520

2017 | 585 | 3482| 1250|700 610

2018 | 625 | 4500 | 1325 (625 | 725

2019 | 600 | 3300 | 1450 | 775 | 840

SFima TN aee F Ama e A (e H) B
Ans X 1. 780

X 2 471

X 3 549

v . 231

Question ID : 123568388
Status : Answered
Chosen Option : 4
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Q8 afF (a+b-272+B+c—52+(c+a-52=0% a Jb+c)F+ (c+a)f —1 & A AT Hi=T

Ans X1 0
X2 2
X3 1
Vi3

Question ID : 123568378
Status : Answered
Chosen Option : 3

Q9 F=TafRw afeer & e woar # 2015 T 2019 7% 3eues (=T ) fwr «ar &1 aifewr &
T Y 3 T T 99 @ 3o &)

Y | =mEe| g | | S | '

2015|415 | 2500 | 1000|975 | 490

2016 | 520 | 4218|1120 |825|520

2017 | 585 |3482| 1250|700 (610

2018 | 625 | 4500 | 1325|625 | 725

2019 | 600 | 3300 | 1450|775 | 840

T 2015 Hr Fora H, 2019 H AT F 3elea ¥ fhaw gl #r gf g32
(G HeT & & TET a% T

Ans X1 77.77%
v'2.71.43%
X 3. 60.28%
X 4 65.12%

Question ID : 123568386
Status : Answered
Chosen Option : 2

Q10 Ffx xcosA—ysinA=1 3 xsinA+ycosA=4 ¥, ar 17x* +17y? & FA= IaET
Ans 1. 49

v 2 289

<37

K40

Question ID : 123568384
Status : Answered
Chosen Option : 2
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Q11 75 777 18% F 7 W 4= 15| IR g 49 Afw T &=h A, o AT 25% I IW T F FI-
qET ¢ AT AT

Ans 1. 2890
X 2. 3570
V= 3700
X 4 2650

Question ID : 123568370
Status : Answered
Chosen Option: 3

Q12 gfr g+ b+c=93Tab+ be+ ca=—22 % a a®+ b +c* —3abe = 7S 7T £

Ans X1, 783
X 2 487
X 3. 1571
v 4 1323

Question ID : 123568376
Status : Answered
Chosen Option : 4

Q.13 0647 m? SFe AT TF IMFR BEF 1.408 km W ST TF Fahal | SEH I T S AT
TR Y TE T Fifem

@ =2
Ans X1 140
V2 280
~< 3180
X 4 360

Question ID : 123568379
Status : Answered
Chosen Option : 2

Q14 pfr dwar 687x29, 9 W Masw ¥, @ 2x & AT AT AT
Ans XL 3

X2 4
Vs 8
Xa2

Question ID : 123568365
Status : Answered
Chosen Option: 3
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Q.15 o vF FHEE B # awd 36V3 an’ g, @ R & 9fEe sawv
Ans  of'1.36 cm

X< 2 18V/3cm

<3 12cm

< 4 3643 cm

Question ID : 123568382
Status : Answered
Chosen Option : 1

@16 afr 37 27" —81° sk abe=144 & A 121+ L+ 1) = 7= = B

Ans 18
1. piE,
" 120

33
2. 255
v 10

17
3. g,
" 120

18
4.
“ 10

Question ID : 123568377
Status : Answered
Chosen Option : 1

Q17 40 cm = Ay arg H BRET g @ e 0.5 cm e Al SR-ed W e S §1
e BT 31 TS S Weal &7

Ans  X1.3200
X 2. 6400
v 3 64,000
X 4. 32,000

Question ID : 123568375
Status : Answered
Chosen Option: 3
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Q.18 fyrATafGa dafersr #, = wael & 2015 ¥ 2019 d% 3918 (eA1 &) @ mar &1 arfeenr =
IeTTT F{ AT O 7T woF 1 30w &)

Ans

T

EIEC]

L4

=T

=it

HeFhT

2015

415

2500

1000

975

490

2016

520

4218

1120

825

520

2017

585

3482

1250

700

610

2018

625

4500

1325

625

725

2019

600

3300

1450

775

840

Hﬁmﬁﬁﬂémﬁﬁﬁmmkﬂlqd (== ) e 2

v 13600
X 2 3482
X 3 3300
X 4 4218

Question ID : 123568387
Status : Answered
Chosen Option : 1

Q.19 # THFFER Th TG I FAd F 50 g § ifha wcm § & 22% H 7€ &7 & TG, 3¢ 1% &

Ans

e farerer #1 afy e e 1888 ¥, & 3§ Irg # F4-HeT AIE Hiewl

X 1. 3895
X 2. 3550
V' 3624
X 4 3782

Question ID : 123568368
Status : Answered
Chosen Option : 3

Q20 Zfy (2sind + cosec A) = 2V2, 0° < A< 90° &, aF 2(sinA+ cos’4) & A Ta=TI

Ans

Ko

2

X20
X3 4
v

Question ID : 123568383
Status : Answered
Chosen Option : 4
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Q.21 v g & FTAEEIT 9ger ¥ H 30% wEr T ey a¥ 15% wH g ¥ I IEEe Fewear 11,050
T @ 2 3¢ ggar & FaEE A o

Ans 110,000

/< 299,500
/< 399,000
/< 410,050
Question ID : 123568369
Status : Not Answered
Chosen Option : --
Q.22 :
AT & g FI
sin40? cosec50? 5 =
— 4c0s50°cosec40
cos50° sec40?
Ans x 1. 2
<21
P
v 2
Question ID : 123568385
Status : Answered
Chosen Option : 4
Q.23 ABC ww Bri=r &1 P, Q 3t R w# =it AB, BC 3k CA ¥ #=x fig #1 3f Bnger ABC

Fr o= T FEE 8 cm §, A APQR F ST TT HITT

Ans o 1. 443 cm?
< 2 ? i ?

< 3 8/3cm?
X 4 Vr_gcmz
3

Question ID : 123568381
Status : Not Answered
Chosen Option : --
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Q.24 TR FT A = = a7 wer e, &7 e 3l e @ w0 E [(30;5)+(84X5)]+5 SR
| [5+18]-=21

Ans 1 _q
v .2
X3 1
X4 2

Question ID : 123568366
Status : Not Answered
Chosen Option : --

Q.25 oF o a4 km/h F AT F O T T A F 1.25 U TS §| TR § E dF B a@T g7 26% aF
FH FAT H 07 F17 ¥ 00 3T H0T T 1 fhde 9faed 98T 2em?

Ans x1_ 459,
<2 25%
Vs 33§%

< 4 50%

Question ID : 123568374
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 Select the most appropriate ANTONYM of the given word.

Persist
Ans x 1. Remain

x 2. Continue
x 3. Insist
J 4. Cease

Question ID : 123568407
Status : Answered
Chosen Option : 4

Q.2 Select the correct indirect form of the given sentence.

"What a rare flower!" she said.
Ans x 1. She asked if it was a rare flower.

( 2. She exclaimed that it was a \ery rare flower.
X 3. She exclaimed what a rare flower it is.

x 4. She told that what a rare flower it was.

Question ID : 123568393
Status : Answered
Chosen Option : 2
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Q.3 Select the option that can be used as a one-word substitute for the given group of
words/phrase.

Having two opposing feelings at the same time

Ans X" 1. Contemporary
x 2. Coinciding
J 3. Ambivalent

x 4. Equivalent

Question ID : 123568411
Status : Answered
Chosen Option: 3

Q.4 Select the correct passive form of the given sentence.

The farmer is ploughing the fields.
Ans J 1. The fields are being ploughed by the farmer.

x 2. The fields are ploughed by the farmer.
x 3. The fields were ploughed by the farmer.
x 4. The fields have been ploughed by the farmer.

Question ID : 123568392
Status : Answered
Chosen Option : 1

Q.5 Identify the segment in the sentence which contains the grammatical error. If there is no
error, select 'No error'

Those who are late they will not be allowed inside the classroom.

Ans J 1. they will not be allowed
x 2. Those who are late

x 3. inside the classroom

x 4. No error

Question ID : 123568390
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

We came back because we had ran out of money.
Ans J 1. we had run

X 2. we have ran

X 3. werun

X 4. No improvement

Question ID : 123568394
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hecules

) to hold it for Atlas while the latter went looking (2)_____ golden apples. When Alas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)____
Hercules sweat and groan. Now Atlas did not want to (5) a job as arduous as that!

SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank 1.

Ans X" 1. afforded

x 2. ordered
( 3. offered

X 4. extended

Question ID
Status : Answered
Chosen Option : 2

1123568397

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hecules

) to hold it for Atlas while the latter went looking (2) golden apples. When Alas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)

Hercules sweat and groan. Now Atlas did not want 1 (5) a job as arduous as that!

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank 2.

Ans X" 1. 0n
W 2 for
75 3. after
X 4. at

Question ID : 123568398
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hecules

) to hold it for Atlas while the latter went looking (2)_____ golden apples. When Alas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)____
Hercules sweat and groan. Now Atlas did not want to (5) a job as arduous as that!

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank 3.

Ans X" 1. coping
x 2. seeking

( 3. struggling

x 4. tackling

Question ID
Status : Answered
Chosen Option : 2

1123568399

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hecules

M to hold it for Atlas while the latter went looking (2) golden apples. When Alas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)

Hercules sweat and groan. Now Atlas did not want 1 (5) a job as arduous as that!

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank 4.

Ans x 1. make

( 2. was making
x 3. has made
X 4. were making

Question ID : 123568400
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Atlas was made to hold the sky up on his shoulders as a punishment. Once, Hecules

) to hold it for Atlas while the latter went looking (2)_____ golden apples. When Alas
returned, he saw Hercules (3) hard to hold the sky. The weight of the sky (4)_____
Hercules sweat and groan. Now Atlas did not want to (5) a job as arduous as that!

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank 5.

Ans ( 1. take back
X 2. take away
X 3. takein
X 4. take out

Question ID : 123568401
Status : Answered
Chosen Option: 3

Q.12 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. The mountain range was covered with snow.
B. Napoleon had to cross the Alps in winter.

C. Napoleon replied that the word 'impossible’ did not exist for him.
D. So, someone told Napoleon that the task was impossible.

Ans X" 1 ADBC

o 2.BADC
7% 3.BDCA
/5 4.DBCA

Question ID : 123568402
Status : Answered
Chosen Option: 3

Q.13 Select the option that can be used as a one-word substitute for the given group of
words/phrase.

A group of ships
Ans  of 1 fleet

X 2. colony
x 3. swarm
X 4. squad

Question ID : 123568410
Status : Answered
Chosen Option : 1
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Q.14 Select the most appropriate option to fill in the blank.

She how the magician had performed the rope trick.
Ans x 1. suspected

75 2. bewildered
J 3. wondered

x 4. puzzled

Question ID : 123568415
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

When it started raining, | ran to the nearer house for shelter.
Ans J 1. the nearest house

x 2. anear house
x 3. the near house

x 4. No improvement

Question ID : 123568395
Status : Answered
Chosen Option : 1

Q.16 Select the most appropriate ANTONYM of the given word.

Glee

Ans X" 1 Fun
x 2. Bliss
/X 3. Joy
o 4 Woe

Question ID : 123568406
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate meaning of the given idiom.

By and by
Ans X" 1.0n the whole

x 2. By any means
75 3.Suddenly
( 4. Gradually

Question ID : 123568408
Status : Answered
Chosen Option : 4
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Q.18 Select the INCORRECTLY spelt word.
Ans “ 1. Acquaintence

x 2. Abandon

x 3. Alliance

x 4. Acquisition

Question ID : 123568413
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate option to fill in the blank.

The roof of the old building

J 1. collapsed
x 2. destroyed
x 3. demolished
x 4. scratched

during the storm.

Ans

Question ID : 123568414
Status : Answered
Chosen Option: 3

Q.20 Select the most appropriate meaning of the given idiom.

Chicken-hearted
X 1. Generous

x 2. Selfish
X 3. Miserly

J 4. Cowardly

Ans

Question ID : 123568409
Status : Answered
Chosen Option : 4

Q.21 Select the most appropriate synonym of the given word.

Preferred

x 1. Feared
#< 2. Adored
x 3. Compared
o 4. Favoured

Ans

Question ID : 123568404
Status : Answered
Chosen Option : 4
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Q.22 Identify the segment in the sentence which contains the grammatical error. If there is no
error, select 'No error'

Everyone except she have travelled by air.

Ans X" 1. Everyone except

x 2. No error

X 3. travelled by air

J 4. she have

Question ID : 123568391
Status : Answered
Chosen Option : 4

Q.23 Select the wrongly spelt word.
Ans X 1. Grief

J 2. Sieze
X 3. Piece
x 4. Fierce

Question ID : 123568412
Status : Answered
Chosen Option : 2

Q.24 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Much of this war had taken place along the Western Front.
B. Both sides had dug in deep and each lost many men over little ground.

C. This front was a line of trenches across which the two sides faced each other.
D. Andre Maginot had fought a war with the French against the Germans.

Ans  of 1 DACB

/< 2.DBCA
/< 3.ACDB
/< 4.BCDA

Question ID : 123568403
Status : Not Answered
Chosen Option : --

Q.25 Select the most appropriate synonym of the given word.

Ovation
Ans ( 1. Applause

x 2. Censure

X 3. Creation

x 4. Preparation

Question ID : 123568405
Status : Not Answered
Chosen Option : --






